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No. | S EF 4 PTS M3P FGA MZP FGA W T N ?E ORREngNDSTOT TO | As | ST | BS MIN
A *|TEIR LB 10 2 12 1 3 2 2 2 2 4 6 0 0 0 0 33:51
5| %58 Bid 25 1 3] 10| 15 2 4 1 5 6 11 0 0 1 0 38:01
6] |&= XS 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4:25
URIEET; 3 1 1 0 2 0 2 0 0 4 4 1 2 4 0 20:45
8| x[ILE 873 4 0 2 2 5 0 0 1 ol 10| 10 2 0 2 0 34:49
9| |+ L BBFI 23 0 2 9] 20 5 6 3 3 6 9 0 2 1 0 34:55
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16| |Eris R T . T s e s - - - DNP
17| & E5 - - - - - - - - - - - - - - - DNP
18| [#FK & - - - - - - - - - - - - - - - DNP
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8| |=E &R - - - - - - - - - - - - - - - DNP
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11| x[FE NE 10 2 3 1 3 2 2 1 1 2 3 0 0 0 1 24:53
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18| |3 BAZ - - - - - - - - - - - - - - DNP
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